Erbijsommen tot 100 met drie decimalen

Rekenen - Bewerkingen

Oefening 1
26,903 + ____ = 54013 1 12302 + ____ = 67,002
Oefening 2
61,662 + ____ = 67,667 ' 5353 + ____ = 96441
Oefening 3
16955 + ____ = 87,152 1 15045 + ____ = 42,894
Oefening 4
14,644 + ____ = 63,84 1 24236 + ____ = 42,549
Oefening 5
13,864 + ____ = 91,446 1 11,357 + ____ = 97,587
Oefening 6
9,857  + = 15528 1 24,500 + = 81,498
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Rekenen - Bewerkingen

Oefening 1

26,903 + 27,110 = 54,013 i 12,302 + 54,700 = 67,002
Oefening 2

61,662 + 6,005 = 67,667 E 5353 + 91,088 = 96,441
Oefening 3

16,955 + 70,197 = 87,152 E 15,045 + 27,849 = 42,894
Oefening 4

14,644 + 49,180 = 63,824 i 24236 + 18,313 = 42,549
Oefening 5

13,864 + 77,582 = 91,446 i 11,357 + 86,230 = 97,587
Oefening 6

9,857 + 5,671 = 15,528 E 24500 + 56,998 = 81,498
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